Efficiency vs Dxy(PV)
0.5

g
=0.45
x
kel

L LN LA LR LELEN L L

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—"— DQM_TT__mkFit-DQM_original-0

| Efficieng] — DQM_TT__mkFit-DQM_updated-0

< 0.5

L
T

- ;‘ i Etw il

—1—08—06—04020 0.2 0 40608 1
TP dxy(PV) (cm)

o

©

)
T

Efficiency vs Dz(PV)

0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

PV)

% 0.45

dz

2 04
3
20,35
0.3
0.25
0.2)
0.15

efficiel

Nl

0.05

TTOT, ““a““ LARLN LARRS RRRLILARLN LRRLI RALLY LARL)

Ratio

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


